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(1]
ERT. ERETMRLIEIEX 0.7A, EEFAVRLIZE
(X 5V, 2 R DEHIT 10Q THS,
(1) ERFRZANIEROKRETIZRD L,
Ri DEEEERMNOROHED D
BRA=BFV)-#EH(Q)=5+10=0.5
( 0.5A )
(2) EINFEREZANIEROKREIZRD L,
QM FIERDERIL. FELDERDIH EBRHREET) =L EDER !
Re DFEY. EAHINBINER = ROBEF+RDER = SREOER 2&(%0")
0. 7(BHREH-EHREBENDER) —0. SR NEH) =0. 2 FR(=ZVI) ( 0.2A )
(3) #EinEE R DEMERD &K
QM FIERDEBEIL. EMHIDEF=FTLENEE ! 2FV.ROEFXE = ReDEF = BEROEFE f=&*

Bh=8F+-E#=5+0.2=25 ( 25Q )
[2])
ii @ EET, BEHRUEL 6V, EH%2 R QBRI
15Q THD,
R1 (1) ERBRIZANDIEROKRETIERH &K,
e D ER=8E-#EH=6+15=0.4
( 0.4A )
. (2) B ReZFANBEFRIL S00mA ThHoT=, i
#x Re DERERD &,
EH(Q)=BF(V)+-EiRA)=6+0.8=7.5
Re BREXITATURT) IOETHEL TR~ ! ( 7.5Q )
(3) BREARIEIIE A M,
(D@2)&Y.0. 440.8=1. 2 « BEHOHINBIDERDIE D ( 1.2A )
(3]
ii EXT, ERETHMRLIZEIE 300mA. #E$gs R DK
HIE10Q ERDEEIX 12V THD,
(1) #EH2E R DERERD K, SHEBFTATURT) T
R E(Q)=8FEV)+-EHRA) =12+ 0. 3=40
( 109 )
(2) ERB R EZRNIERODKRKESEZRDEK,
—r *— s — .
Em=8F-#Hh=12+10=1.2
( 1.2A )
Re (3) EEBREADIENRERD L,

CiFEIBEDLEDIERIL. 2AEDEE (BERENEX) T2AKDER B NEl-SREDENR) !

¥ 1/R=1/Ri+1/Rs EVSHHDARNECHNHTONIETNEF-TLRNHE 1 COERFDESHBEEEESD,
LEDEEIL12V. DOEFIE 0. 3+1. 2=1. 5A HDT.12+1.5=8 ( 8Q )
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